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A B D

fo|kF;k±lkBh egŸokP;k lwpuk
1. ifj{kkFkh±uh vkiyk vklu ÿekad ;k i`"Bkojhy ojP;k dksiÚ;kr fygkok-

rlsp vki.kkal fnysY;k mŸkjif=dspk ÿekad R;k[kkyh fygkok-
2. lnj iz'uif=dsr 75 cgqi;kZ;h iz'u vkgsr- izR;sd iz'ukl nksu xq.k

vkgsr- ;k iz'uif=dsrhy loZ iz'u lksMfo.ks vfuok;Z vkgs- lnjps iz'u
gs ;k fo"k;kP;k laiw.kZ vH;klÿekoj vk/kkfjr vkgsr-

3. ijh{kk lq: >kY;koj fo|kF;kZyk iz'uif=dk fnyh tkbZy- lq#okrhP;k 5
feuhVkae/;s vki.k lnj iz'uif=dk m?kMwu [kkyhy ckch vo'; riklwu
igkO;kr-
(i) iz'uif=dk m?kM.;klkBh iz'uif=dsoj ykoysys lhy m?kMkos-

lhy ulysyh fdaok lhy m?kMysyh iz'uif=dk fLodk: u;s-
(ii) ifgY;k i`"Bkoj uewn dsY;kizek.ks iz'uif=dsph ,dw.k i`"Bs

rlsp iz'uif=dsrhy ,dw.k iz'ukaph la[;k iMrk w̌u igkoh-
i`"Bs deh vlysyh@deh iz'u vlysyh@iz'ukapk pwdhpk
ÿe vlysyh fdaok brj =qVh vlysyh lnks"k iz'uif=dk
lq#okrhP;k 5 fefuVkrp i;Zos{kdkyk ijr ns≈u nqljh
iz'uif=dk ekxowu ?;koh- R;kuarj iz'uif=dk cnywu
feˇ.kkj ukgh rlsp oš gh ok<owu feˇ.kkj ukgh ;kph œi;k
fo|kF;k±uh uksan ?;koh-

(iii) ojhyizek.ks loZ iMrkˇwu ifgY;kuarjp iz'uif=dsoj
vks-,e-vkj- mŸkjif=dspk uacj fygkok-

4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh pkj fodYi mŸkjs fnyh
vkgsr- R;krhy ;ksX; mŸkjkpk jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks
dkˇk@fuˇk djkok-
mnk- % tj (C) gs ;ksX; mŸkj vlsy rj-

5. ;k iz'uif=dsrhy iz'ukaph mŸkjs vks-,e-vkj- mŸkjif=dsrp n'kZokohr-
brj fBdk.kh fyghysyh mŸkjs riklyh tk.kkj ukghr-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. iz'uif=dsP;k 'ksoVh tksMysY;k dksÚ;k ikukojp dPps dke djkos-
8. tj vki.k vks-,e-vkj- oj uewn dsysY;k fBdk.kk O;frjh‰ brj dksBsgh

uko] vklu ÿekad] Qksu uacj fdaok vkš [k iVsy v'kh dks.krhgh [kw.k
dsysyh vk< w̌u vkY;kl vFkok vlH; Hkk"kspk okij fdaok brj xSjekxk±pk
voyac dsY;kl fo|kF;kZyk ijh{ksl vik= Bjfo.;kr ;sbZy-

9. ijh{kk laiY;kuarj fo|kF;kZus ew̌  vks-,e-vkj- mŸkjif=dk i;Zos{kdkadMs
ijr dj.ks vko';d vkgs- rFkkih] iz'uif=dk o vks-,e-vkj- mŸkjif=dsph
f}rh; izr vkiY;kcjkscj us.;kl fo|kF;k±uk ijokuxh vkgs-

10. Q‰ fuˇÓk fdaok dkˇÓk ckWy isupkp okij djkok-
11. dWyD;qysVj fdaok ykWx Vscy okij.;kl ijokuxh ukgh-
12. pqdhP;k mŸkjklkBh xq.k dikr dsyh tk.kkj ukgh-

A B D
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1. A bell-shaped curve is :

(A) Positively Skewed Curve

(B) Negatively Skewed Curve

(C) Normal Curve

(D) Bimodal Curve

2. Serve in Volleyball is an example

of :

(A) Giving impetus to one’s own

body

(B) Receiving impetus from one’s

own body

(C) Receiving impetus from

external object

(D) None of the above

1. ?kaVkœrh oÿ vlk vlrks %

(A) /ku&fo"kfer oÿ

(B) Ω.k&fo"kfer oÿ

(C) izlkekU; oÿ

(D) f}'kadw oÿ

2. OgkWyhckWye/khy lOgZ gs ;kps mnkgj.k

vkgs %

(A) Lor%P;k 'kjhjkoj iz?kkr (bEisVl)

?ks.ks

(B) Lor%P;k 'kjhjkdMwu iz?kkr (bEisVl)

?ks.ks

(C) ck· oLrwdMwu iz?kkr (bEisVl) ?ks.ks

(D) ojhyiSdh ukgh

PHYSICAL EDUCATION
Paper III

'kkjhfjd f'k{kk
iz'uif=dk III

Time Allowed : 2½ Hours] [Maximum Marks : 150

Note : This Paper contains Seventy Five (75) multiple choice questions. Each

question carries Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k ipgŸkj (75) cgqi;kZ;h iz'u vkgsr- izR;sd iz'ukyk nksu (2) xq.k
vkgsr- loZ i'u lksMok-
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3. Which of the following is not a

specified objective of physical

education curriculum for the state

of Maharashtra ?

(A) Skill-related fitness

(B) Health-related Physical Fitness

(C) Physical Literacy

(D) Lifetime physical activity

behaviour

4. The major contributors of energy in

the early minutes of high-intensity

exercise are :

(A) ATP-PC system

(B) ATP-PC and glycolytic system

(C) Glycolytic system

(D) Oxidative system

3. iq<hyiSdh dks.krs mfÌ"V egkjk"V™ jkT;klkBhP;k

'kk-f'k- vH;klÿekr fo'ks"kd:u ukasnfoysys

ukgh \

(A) dkS'kY;kf/k"Bhr lqn`<rk

(B) vkjksX;kf/k"Bhr lqn`<rk

(C) 'kkjhfjd lk{kjrk

(D) vkthou 'kkjhfjd fÿ;k'khy orZu

4. mPp rhozrsP;k O;k;kekr izkjaHkhP;k dkgh

fefuVkr izeq[k ≈tkZ lzksr gk vlrks %

(A) ,Vhihµihlh flLVe

(B) ,Vhih&ihlh o Xyk;dkWfyfVd flLVe

(C) Xyk;dksfyfVd flLVe

(D) vkWfDlMsVhOg flLVe
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5. Match List I with List II and select

the correct option from the codes

given below :

List I List II

(i) Speed (1) Rate of

change of

displacement

(ii) Velocity (2) Rate of

change

of velocity

(iii) Acceleration (3) Rate of

change of

distance

(iv) Force (4) Rate of

change

of momentum

Codes :

(i) (ii) (iii) (iv)

(A) (1) (2) (3) (4)

(B) (3) (2) (1) (4)

(C) (3) (2) (4) (1)

(D) (3) (1) (2) (4)

5. ;knh I o II tqˇowu [kkyh fnysY;k

ladsrkadkaeËkwu ;ksX; i;kZ; fuoMk %

;knh I ;knh II

(i) pky (1) foLFkkiu cny.;kpk

nj

(ii) osx (2) osx cny.;kpk

nj

(iii) Roj.k (3) varj cny.;kpk

nj

(iv) cy (4) laosx cny.;kpk

nj

ladsrkad %

(i) (ii) (iii) (iv)

(A) (1) (2) (3) (4)

(B) (3) (2) (1) (4)

(C) (3) (2) (4) (1)

(D) (3) (1) (2) (4)
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6. A study that investigates the

relationship between gender and

participation in sport would be an

example of :

(A) Fundamental research

(B) Descriptive research

(C) Experimental research

(D) Action research

7. Which of the following is

not considered in the pre-game

meal ?

(A) Timing

(B) Balanced diet

(C) Fluid content

(D) Energetics

8. The order of exercise in a strength

training programme should be :

(A) Large mass, multijoint

(B) Single joint, smaller mass

(C) Large mass, single joint

(D) Smaller mass, multijoint

9. Running has the following

mechanical phases :

(i) Backward support phase

(ii) Forward support phase

(iii) Double support phase

(iv) Flying phase

The correct phase is :

(A) I, II, III

(B) II, III, IV

(C) I, III, IV

(D) I, II, IV

6. ^fyax o ÿhMk lgHkkx ;ke/khy lglaca/kkpk
vH;kl* gs dks.kR;k izdkjP;k la'kks/kukps
mnkgj.k vkgs \

(A) eqyHkwr la'kks/ku

(B) o.kZukRed la'kks/ku

(C) izk;ksfxd la'kks/ku

(D) œrh la'kks/ku

7. LIk/ksZiwohZP;k vkgkjkr iq<hyiSdh d'kkpk fopkj
dsyk tkr ukgh \

(A) vkgkjkP;k oš k

(B) lerksy vkgkj

(C) vkgkjkrhy Êokps izek.k

(D) mtkZ (,utsZfVDl)

8. rkdn izf'k{k.k dk;Zÿekrhy O;k;kekpk ÿe
vlk vlkok %

(A) eksBs Luk;w] cgqlka/kh;

(B) ,dlka/kh;] NksVs Luk;w

(C) eksBs Luk;w] ,dlka/kh;

(D) NksVh Luk;w] cgqlka/kh;

9. /k ko.;ke/; s i q<hy ;k a f=dh voLFkk
vlrkr %

(i) cWdoMZ liksVZ (izfrxkeh vk/kkj) voLFkk

(ii) QkWjoMZ liksVZ (mn~xkeh vk/kkj) voLFkk

(iii) Mcy liksVZ (f}vk/kkj) voLFkk

(iv) mM~Mk.k voLFkk

mfpr voLFkk vkgs %

(A) I, II, III

(B) II, III, IV

(C) I, III, IV

(D) I, II, IV
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10. Pedometer measures the number of

steps taken by an individual. This

is a direct measurement of :

(A) Level of physical activity

(B) Leg strength

(C) Cardiovascular endurance

(D) Speed

11. Match List I and List II and select

the correct answer from the codes

given below :

  List I    List II

(i) Choraco- (1) Inferior side

brachialis of shoulder

joint

(ii) Teres Minor (2) Superior  side

of  shoulder

joint

(iii) Middle (3) Posterior

deltoid side of

shoulder

joint

(iv) Letissimus (4) Anterior  side

dorsi of shoulder

joint

Codes :

(i) (ii) (iii) (iv)

(A) (4) (3) (2) (1)

(B) (3) (2) (1) (4)

(C) (2) (1) (4) (3)

(D) (1) (4) (3) (2)

10. O;Drhus ,dw.k pkyysY;k ik≈ykaP;k la[;sps

eksteki isMksehVj gs ;a= djrs- gs d'kkps izR;{k

ekiu vkgs \

(A) 'kkjhfjd fÿ;k'khyrk Lrj (fQftdy

vWfDVfOgVh) ysOgy

(B) ik;krhy rkdn

(C) #f/kjkfHklj.k nenkji.kk

(D) osx

11. ;knh I o II tq̌ owu ;ksX; i;kZ; [kkyh fnysY;k

ladsrkadkae/kwu fuoMk %

 ;knh I ;knh II

(i) dksjWdkss& (1) [kka|kP;k lka/;kph

czsfd;kfyl~ v/kkscktw

(ii) Vsjsl~ ek;uj (2) [kka|kP;k lka/;kph

m/oZcktw

(iii) feMy (3) [kka|kP;k lka/;kph

MsYVkWbZM iqPN cktw (ekxph)

(iv)  yWfVflel (4) [kka|kP;k lka/;kph

MkWlhZ vxzh; cktw (iq<ph)

ladsrkad %

(i) (ii) (iii) (iv)

(A) (4) (3) (2) (1)

(B) (3) (2) (1) (4)

(C) (2) (1) (4) (3)

(D) (1) (4) (3) (2)
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12. The most critical psychological

variables in sports performance

are :

(I) Intelligence

(II) Anxiety management

(III) Mind training

(IV) Aptitude

The correct answer is :

(A) II and III

(B) I and IV

(C) I and II

(D) III and IV

13. ‘Imagery’ is often used by athletes

to :

(A) Enhance concentration

(B) Reduce anxiety

(C) Cope with emotions

(D) Improve confidence

12. ÿhMk dk; Zekukrhy lok Zr egRokph

ekul'kkL=h; pys %

(I) cqfºeŸkk

(II) fparsps O;oLFkkiu

(III) eukps izf'k{k.k

(IV) dy

mfpr i;kZ; vkgs %

(A) II o III

(B) I o IV

(C) I o II

(D) III o IV

13. [kš kMw ^bestjh* gk rarkpk cgqrsdoš h ;klkBh

djrkr %

(A) ,dkxzrk lq/kkj.ks

(B) fpark deh dj.ks

(C) Hkkoukauk lkeksjs tk.ks

(D) vkRefo'okl lq/kkj.ks

http://www.studentbounty.com/
http://studentbounty.com/


9 [P.T.O.

DEC-71313/III

14. Match List I with List II and choose

the correct answer from the codes

given below :

List I   List II

(i) Multiactivity (1) To expose

Curriculum students to

Model a variety of

physical

activity and

sport

(ii) Fitness (2) To teach

Curriculum students to

Model become

sports

literate

(iii) Lifelong (3) To improve

physical activity and

curriculum maintain

model physical

fitness for a

lifetime

(iv) Sports (4) To help

education students

curriculum find

model physical

activities

they like

and do

Codes :

(i) (ii) (iii) (iv)

(A) (1) (4) (3) (2)

(B) (1) (3) (4) (2)

(C) (1) (2) (3) (4)

(D) (1) (3) (2) (4)

14. ;knh I o II tqˇowu [kkyh fnysY;k

ladsrkadkaeËkwu ;ksX; i;kZ; fuoMk %

 ;knh I   ;knh II

(i) cgqmiÿe  (1) fo|kF;k±uk fofo/k

vH;klÿe 'kkjhfjd miÿe o

vfHkdYi ÿhMkizdkjkaP;k

laidkZr vk.k.ks

(ii) lqn`<rk (2) fo|kF;k±uk

vH;klÿe ÿhMkfo"k;d lk{kj

vfHkdYi cufo.ks

(iii) vkthou (3) vkthou 'kkjhfjd

'kkjhfjd lqn`<rk lq/kkj.ks

fÿ;k'khyrk o fVdo.ks

vH;klÿe

vfHkdYi

(iv) ÿhMkf'k{k.k (4) vkiY;k vkoMhpk

vH;klÿe 'kkjhfjd miÿe

vfHkdYi 'kks/k.;kl o

dj.;kl enr

dj.ks

ladsrkad %

(i) (ii) (iii) (iv)

(A) (1) (4) (3) (2)

(B) (1) (3) (4) (2)

(C) (1) (2) (3) (4)

(D) (1) (3) (2) (4)
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15. Diseases transmitted via the blood

are :

(A) AIDS and Hepatitis

(B) Tuberculosis and AIDS

(C) Chickenpox and AIDS

(D) Cholera and Malaria

16. The initial steep rise in the learning

graph is an indication of quick

progress and is technically known

as :

(A) End spurt

(B) Saturation point

(C) Initial spurt

(D) Plateau

17. In order to ensure that the athlete

is perfectly prepared and can ‘peak’

for competition. This process may be

undertaken :

(A) Acclimatizing

(B) Tapering

(C) Competing

(D) Adapting

18. Two athletes perform strict biceps

curls with 15 kg dumb-bells. One

athlete has much longer forearms.

Why does the biceps curl demand

more muscular force from the athlete

with the longer forearms ?

(A) Resistance Arm > Force arm

(B) Resistance Arm < Force arm

(C) Resistance Arm = Force Arm

(D) Force arm is minimum

15. jDrk}kjs ilj.kkjs gs jksx vkgsr %

(A) ,M~l o fgiWVk;fVl (dkohˇ)

(B) {k;jksx o ,M~l

(C) dkaft.;k o ,M~l

(D) iVdh o fgorki

16. v/;;u vkys[kkrhy izkjaHkhpk rhoz p< gk tyn

izxrhpk n'kZd vkgs- R;kykp gh 'kkL=h; laKk

vkgs %

(A) vafre mlˇh

(B) lai`Drrk fcanw

(C) izkjaHk mlˇh

(D) iBkjkoLFkk

17. [kš kMwph iw.kZ r;kjh >kyh vlwu rks Li/ksZlkBh

loksZPp ikrˇhps dk;Zeku lk/kw 'kdsy ;kph

[kk=h dj.;klkBh gh izfÿ;k gkrh ?ksrkr %

(A) vaxoˇ.kh iM.ks

(B) Vsifjax (fueqˇus dj.ks)

(C) Li/kkZ dj.ks

(D) vuqdwyu dj.ks

18. nksu [kš kMw 15 fdxzWps MacsYl ?ksowu vpwd

ck;lsIl dYlZ djrkr- ;kiSdh ,dk [kš kMwpk

izckgw (QksjvkeZ) nqlÚ;kis{kk cjkp ykac

vkgs- ykac izckgw vl.kkÚ;k [kš kMwyk ck;lsIl

dYlZ djrkuk vf/kd cy dk ykokos

ykxrs \

(A) jks/k ckgw > cy ckgw

(B) jks/k ckgw < cy ckgw

(C) jks/k ckgw = cy ckgw

(D) cy ckgw fdeku vkgs
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19. Review of literature helps researcher

to :

(1) State hypothesis

(2) Establish theoretical basis

(3) Analyze scores

(4) Evaluate related research work

The correct answer is :

(A) 1, 2, 3, 4

(B) 1 and 2

(C) 1, 2 and 4

(D) 2 and 4

20. The ‘Inverted U-Hypothesis’ for

anxiety and its relation with

performance states that this levels

of anxiety is/are maximally

detrimental for performance :

(A) Optimum

(B) Moderately low

(C) Moderately high

(D) Very high and very low

21. The statement given below is false.

Select the correct option for the

underlined words, so that the

statement is correct :

The pulmonary veins carry blood

from the lungs to the right

atrium :

(A) Left atrium

(B) Left ventricle

(C) Right atrium

(D) Right ventricle

19. la'kks/kdkl lanHkZlkfgR;kP;k vk<kO;kph v'kh

enr gksrs %

(1) ifjdYiuk ekaM.;klkBh

(2) la'kks/kukyk rkfRod cSBd ns.;klkBh

(3) izkIrkadkaps fo'ys"k.k dj.;klkBh

(4) lacaf/kr la'kks/ku dk;kZps ewY;ekiu

dj.;klkBh

;ksX; i;kZ; vkgs %

(A) 1, 2, 3, 4

(B) 1 o 2

(C) 1, 2 o 4

(D) 2 o 4

20. fpark o ÿhMkdk;Zekuk'kh lacaf/kr bUOgVsZM ;w

ifjdYiusizek.ks fparsph gh ikrˇh dk;ZekuklkBh

lokZf/kd /kksdknk;d vlrs %

(A) i;kZIr

(B) csrkph deh

(C) csrkph tkLr

(D) vfr tkLr (mPp) o vfr deh

21. fnysys fo/kku vlR; vkgs- v/kk sj sf[kr

'kCnklkBh ;ksX; i;kZ; fuoMwu fo/kku lR;

djk %

QqIQwluhyk QqIQwlkrwu mtO;k df.kZds dMs

jDr okgwu usrkr %

(A) Mkoh df.kZdk

(B) Mkoh tofudk

(C) mtoh df.kZdk

(D) mtoh tofudk
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22. Match List I and List II and select

the correct answer from the codes

given below :

List I      List II

(i) Perfectly (1) angle of

elastic impact < 90º

collision

(ii) Partial (2) e = < 1

elastic

collision

(iii) Direct (3) angle of impact

collision = angle of

rebound

(iv) Indirect (4) e = 1

collision

Codes :

(i) (ii) (iii) (iv)

(A) (1) (4) (2) (3)

(B) (3) (1) (4) (2)

(C) (4) (2) (3) (1)

(D) (2) (3) (1) (4)

22. ;knh I o II tqˇowu [kkyh fnysY;k

ladsrkadkaeËkwu ;ksX; i;kZ; fuoMk %

;knh I ;knh II

(i) laiw.kZ izR;kLFk (1) vk?kkrkpk

VDdj dksu < 90º

(ii) viw.kZ izR;kLFk (2) e = < 1

VDdj

(iii) izR;{k VDdj (3) vk?kkrkpk dksu

= vkiV.;kpk

(fjck≈aM) dksu

(iv) vizR;{k VDdj (4) e = 1

ladsrkad %

(i) (ii) (iii) (iv)

(A) (1) (4) (2) (3)

(B) (3) (1) (4) (2)

(C) (4) (2) (3) (1)

(D) (2) (3) (1) (4)
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23. What aspect of body movement

refers to body awareness ?

(1) To identify the parts of body

and the whole

(2) To establish the relationship of

body parts

(3) To be able to identify body parts

The correct answer is :

(A) (1) and (2)

(B) (1), (2) and (3)

(C) (2) and (3)

(D) (1) and (3)

24. “Student will be able to describe why

heart beats faster during exercise.”

The statement above is an example

of learning objective is :

(A) Psychomotor domain

(B) Cognitive domain

(C) Affective domain

(D) Fitness domain

23. iq<hyiSdh dks.krk ?kVd Eg.kts 'kjhj tk.kho

gks; \

(1) 'kjhjkps Hkkx o 'kjhjkph laiw.k Zrk

vksˇ[k.ks

(2) 'kjhjkP;k HkkxkarxZr laca/k izLFkkfir

dj.ks

(3) 'kjhjkps fofo/k Hkkx vkš [k.ks

;ksX; mŸkj vkgs %

(A) (1) o (2)

(B) (1), (2) o (3)

(C) (2) o (3)

(D) (1) o (3)

24. fo|kFkhZ ^^O;k;keknjE;ku ‚n;kps Bksds tyn

dk gksrkr**] gÓkaps o.kZu d: 'kdrks-

ojhy fo/kku dks.kR;k {ks=krhy v/;;u

mÌh"Vkps mnkgj.k vkgs \

(A) fÿ;kRed@dkjd {ks=

(B) cks/kkRed {ks=

(C) HkkokRed {ks=

(D) lqn`<+rk {ks=
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25. Newton’s Second Law of Motion

explains :

(i) Impulse-momentum relation-

ship

(ii) Direction of change of

momentum

(iii) Relation between applied force

and produced acceleration

(iv) Action-reaction relationship.

Give the correct combination :

(A) (i) (ii) (iii)

(B) (ii) (iii) (iv)

(C) (iii) (iv) (i)

(D) (iv) (i) (ii)

26. Situational anxiety during

competition is best tackled by :

(I) Peptalk

(II) Desensitization

(III)Self talk

(IV)  Goal setting

The correct answer is :

(A) II and IV

(B) I and III

(C) I and IV

(D) I and II

25. U;wVupk xrhfo"k;d nqljk fu;e gs Li"V

djrks %

(i) vkosx&laosx laca/k

(ii) laosx cnykph fn'kk

(iii) iz;qDr cy o fufeZr Roj.kkae/khy

lacaËk

(iv) fÿ;k&izfrfÿ;k laca/k

;ksX; tqˇ.kh fuoMk %

(A) (i) (ii) (iii)

(B) (ii) (iii) (iv)

(C) (iii) (iv) (i)

(D) (iv) (i) (ii)

26. Li/ksZnjE;ku ifjfLFkrhtU; fpark gkrkˇ.;kpk

mŸke ekxZ %

(I) isiVkWd (mRlkgizo.k Hkk"k.k)

(II) futkZ.khohdhdj.k

(III) lsYQ VkWd (Loxr)

(IV) /;s; fuf'prh (xksy lsVhax)

;ksX; i;kZ; vkgs %

(A) II o IV

(B) I o III

(C) I o IV

(D) I o II
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27. What type of motivation is not

applicable to young children ?

(A) Extrinsic motivation

(B) Intrinsic motivation

(C) Achievement

(D) All of the above

28. An athlete runs 30 minutes

everyday, but her 5000 m race time

is staying the same and she is not

having fun any more. What should

she do to improve ?

(A) Run a 5000 m everyday because

practice makes perfect

(B) Add diversity to her exercise

program to keep her from

getting bored or lazy

(C) Continue focussing on all of

her time on running but she

should try to run faster every

time

(D) Continue focussing on all of her

time on running but she should

try to run farther each time

27. ygku eqykalkBh dks.kR;k izdkjph izsj.kk ;ksX;

Bjr ukgh \

(A) cfgxZr izsj.kk

(B) varxZr izsj.kk

(C) laiknu

(D) ojhyiSdh loZ

28. ,d [kš kMw jkst 30 feuhV /kkors ijarw frP;k

5000 m Li/kkZdkyko/kh frrdkp (leku)

jkgr vkgs o vkrk fryk ;krwu Qkjlk vkuangh

fe šuklk >kyk vkgs- gh fLFkrh lq/kkj.;klkBh

frus dk; djkos \

(A) jkst 5000 eh /kkokos dkj.k ljkokusp

vpwdrk ;srs

(B) daVkˇk fdaok vkˇl ;sow u;s Eg.kwu

vkiY;k O;k;keizdkjk ar fofo/krk

vk.kkoh

(C) izR;sdoš h vf/kd osxkr /kko.;kpk iz;Ru

d:u /kkorkuk iw.k Zosˇ y{kda sÊhr

djkos

(D) izR;sdoš h vf/kd ykaci;±r /kko.;kpk

iz;Ru d:u /kkorkuk iw.kZoš  y{kdsaÊhr

djkos
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29. Which of the following is a non-

probability sampling method ?

(A) Snowball sampling

(B) Random sampling

(C) Stratified sampling

(D) Systematic sampling

30. DOTS is the most effective strategy

that ensures cure for :

(A) Malaria

(B) Typhoid

(C) Tuberculosis

(D) Hepatitis A

31. Given below are two statements, one

is labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A) : Sport Psychology is

a science of athlete behaviour.

Reason (R) : No elite sportsperson

can be champion without help from

a psychologist.

In the context of two statements,

which  one of the following is

correct ?

(A) Both (A) and (R) are true

(B) (A) is correct but (R) is no correct

explanation of (A)

(C) Both (A) and (R) are incorrect

(D) (A) is correct but (R) is false

29. i q<hyi Sdh U;kn'k Zukph dk s. krh iºr

vlaHkkO;rk iºr vkgs \

(A) LuksckWy U;kn'kZu

(B) ;kn`PNhd U;kn'kZu

(C) Lrjh; U;kn'kZu

(D) iz.kkyhcº U;kn'kZu

30. ^MkWVl~* gh vfr'k; ifj.kkedkjd mipkj iºrh

;k vktkjkpk bykt lqfuf'pri.ks djrs %

(A) fgorki

(B) fo"keToj

(C) {k;jksx

(D) dkoȟ  ‘A’ (fgiWVk;fVl A)

31. fnysY;k nksu okD;karhy ,d fo/kku (A) vkgs

o ,d dkj.k (R) vkgs %

fo/kku (A) % ÿhMk ekul'kkL= g s

[kš kMwP;k orZukps 'kkL= vkgs-

dkj.k (R) % ,dgh Js"B [k sˇkM w

ekul'kkL=KkP;k enrhfo'kk;

fotsrk gks≈ 'kdr ukgh-

ojhy vk'k;klanHkkZr ;ksX; fo/kku fuoMk %

(A) (A) o (R) nksUgh gh lR; vkgsr

(B) (A) cjkscj vkgs ijarw (R) gs (A) ps

;ksX; Li"Vhdj.k ukgh

(C) (A) o (R) nksUghgh pwd vkgsr

(D) (A) cjkscj vkgs ijarw (R) vlR;

vkgs
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32. Impulse of force may be defined as

the product of :

(A) Mass and acceleration

(B) Velocity and time

(C) Force and time

(D) Mass and velocity

33. The most popular event at ancient

‘Olympia’ was :

(A) Pankration

(B) Boxing

(C) Jumping

(D) Chariot-racing

34. When assessing internet based

literature, which of the following is

not important ?

(A) Credibility of the author

(B) Layout of the site

(C) Purpose of the site

(D) Intended audience of the site

32. cykpk vkosx Eg.ktsp ;kapk xq.kkdkj

gks; %

(A) oLrweku o Roj.k

(B) osx o oš

(C) cy o osˇ

(D) oLrweku o osx

33. izkphu ^vkWfyfEi;k* e/khy lokZr yksdfiz;

ckc %

(A) iWUÿs'ku

(B) eq"Vh;qº

(C) tfEaiax (mMh)

(D) jFk&'k;Zr

34. baVjusV ojhy lkfgR;kpk vk<kok ?ksrkuk

iq<hyiSdh dk; egRokps ukgh \

(A) ys[kdkph fo'oklkgZrk

(B) lkbZVph jpuk

(C) lkbZVpk mÌs';

(D) lkbZVps visf{kr okpd
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35. Balance :

(1) is ability to retain the centre of

mass of the body over the base

of support

(2) is the awareness of the body’s

position in space

(3) does not depend upon the

coordination between inner ear,

brain, skeleton and muscles

The correct answer is :

(A) (1) and (2) are true and 3 is false

(B) (1), (2) and (3) are true

(C) (1), (2) and (3) are false

(D) (1) is true and (2) and (3) are

false

36. Regular motion should have the

characteristic of :

(A) Zero velocity

(B) Zero acceleration

(C) Zero displacement

(D) Zero speed

35. lerksy Eg.kts %

(1) vk/kkjHkwr ik;kojP;k e/;koj oLrwps otu

Bso.;kph {kerk

(2) vodk'kkrhy 'kjhjkP;k fLFkrhcÌyph

tk.kho

(3) dkukpk varjax] esanw] lkiˇk o Luk;w ;kaP;k

leUo;koj voyacwu ukgh

mfpr i;kZ; vkgs %

(A) (1) o (2) lR; vkgsr] (3) vlR; vkgs

(B) (1), (2) o (3) lR; vkgsr

(C) (1), (2) o (3) vlR; vkgsr

(D) (1) lR; vkgs] (2) o (3) vlR; vkgsr

36. fu;fer (fu;af=r) xrhe/;s gs oSf'k"VÓ vlkosp

ykxrs %

(A) 'wkU; osx

(B) 'kwU; Roj.k

(C) 'kwU; foLFkkiu

(D) 'kwU; pky
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37. In a PE class, managerial time

refers to amount of time spent

on :

(1) Roll call

(2) Waiting for turn of practise

(3) Dividing teams

(4) Moving from one formation to

other

The correct answer is :

(A) (1) and (3)

(B) (2) and (4)

(C) (1), (2), (3) and (4)

(D) (2) and (3)

38. Longitudinal axis of joint movement

is perpendicular to :

(A) Sagittal plane

(B) Transverse plane

(C) Frontal plane

(D) Medio-lateral plane

37. 'kk-f'k- oxkZe/khy O;oLFkkidh; dkyko/kh

Eg.kts ;k ckchaoj [kpZ >kysyk oš  %

(1) gtsjh

(2) ljkokP;k la?khph okV c?k.ks

(3) la?k foHkkx.kh

(4) ,dk oxZjpusrwu nqlÚ;kr tk.ks

;ksX; mŸkj vkgs %

(A) (1) o (3)

(B) (2) o (4)

(C) (1), (2), (3) o (4)

(D) (2) o (3)

38. lka/kk gkypkyhpk vUok;ke (yk°fxV~;qMhuy)

v{k ;k izryk'kh dkVdksukr vlrks %

(A) lWthVy izry

(B) V™kUlOglZ (vuqizLFk) izry

(C) ›aVy izry

(D) feMhvks&yWVjy izry
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39. Total Quality Management (TQM)

is credited with increasing :

(1) Productivity and profitability

(2) Profitability and safety

(3) Satisfied Staff and user groups

(4) Productivity, profitability,

satisfied staff and user groups

The correct answer is :

(A) (1)

(B) (1) and (2)

(C) (1), (2) and (3)

(D) (4)

40. According to Naturalism, the aim of

education and physical education

is :

(A) Self-realization

(B) Self-expression

(C) Self-adjustment

(D) Life-adjustment

39. VksVy DokfyVh eWustesaV (TQM) (laiw.kZ

xq.koŸkk O;oLFkkiu) Eg.kts ;k ?kVdkaph ok<

vls ekuys tkrs %

(1) mRiknu{kerk o fdQk;r'khji.kk

(2) fdQk;r'khji.kk o lqjf{krrk

(3) lek/kkuh deZpkjh o xzkgd lewg

(4) mRiknu{kerk] fdQk;r'khji.kk] lekËkkuh

deZpkjh o xzkgd lewg

mfpr i;kZ; vkgs %

(A) (1)

(B) (1) o (2)

(C) (1), (2) o (3)

(D) (4)

40. fulxZoknkuqlkj] f'k{k.k o 'kkjhfjd f'k{k.kkps

gs /;s; vkgs %

(A) Lo&met

(B) Lo&vfHkO;Drh

(C) Lo&la;kstu

(D) thou&la;kstu
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41. Short-term overloading is also

known as :

(A) Standard loading

(B) Linear loading

(C) Concentrated loading

(D) Step loading

42. “Fibre composition alone is not a

reliable predictor of athletic

success.”

The statement given above is :

(A) Correct

(B) Incorrect

(C) Ambiguous

(D) Irrelevant

41. vYidkyhu vf/kHkkjkl vlsgh lacks/kys

tkrs %

(A) izek.k Hkkj

(B) js"kh; Hkkj

(C) ,dkxz Hkkj

(D) LVsi (VIik) Hkkj

42. ^^ÿhMk ;'kLohrse/;s Luk;w rarw ?kM.k gh ,deso

fo'oluh; vanktdrkZ ukgh-**

ojhy fo/kku vls vkgsr-

(A) cjkscj

(B) pwd

(C) lafnX/k

(D) vlacaf/kr
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43. A study compares physical fitness of

boys and girls of different age groups

from rural and urban areas in state

for comparison, which of the

following statistical techniques will

be used ?

(1) Chi-square

(2) ANOVA

(3) Scheffe’s post-hoc test

(4) Regression analysis

(5) Cronbach’s alfa

The correct answer is :

(A) (2) and (5)

(B) (1) and (2)

(C) (2) and (4)

(D) (2) and (3)

43. jkT;kP;k xzkeh.k o 'kgjhHkkxkarhy fofo/k

o;ksxVkrhy eqys o eqyhaP;k 'kkjhfjd lqn`<rspk

rqyukRed vH;kl djr vlrkuk iq<hyiSdh

dks.kR;k lkaf[;dh ra=k okij djky \

(1) dk;&LDosvj

(2) vWuksOgk

(3) 'ksQht~ iksLV&gkWd VsLV

(4) fjxzs'ku (izfrxeu) vWukfyfll

(5) ÿksucWd vYQk

mfpr i;kZ; vkgs %

(A) (2) o (5)

(B) (1) o (2)

(C) (2) o (4)

(D) (2) o (3)
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44. Given below are two statements, one

is labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A) : Discipline,

dedication and devotion make sports

training a real tool of success.

Reason (R) : All alhletes are

devoted to their coaches.

Find the correct answer from the

following :

(A) Both (A) and (R) are incompatible

(B) (A) is true but (R) is false

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

45. Given below is a list of function of

management. Select an appropriate

title from the options given below.

List :

Directing, Influencing, Motivating,

Nurturing, Mentoring, Role

Modeling,

Options :

(1) Planning (2) Controlling (3)

Leading (4) Organising (5) Adm-

inistrating (6) Staffing

(A) 6

(B) 2

(C) 3

(D) 5

44. fnysY;k nksu okD;krhy ,d fo/kku (A) vkgs

o ,d dkj.k (R) vkgs %

fo/kku (A) % f'kLr] leiZ.k o fu"Bk

;kaeq šp ÿhMk izf'k{k.k gs

;'kkps [kjs lk/ku Bjrs-

dkj.k (R) % loZ [k sˇkM w R;k aP;k

ekxZn'k Zdk a'kh fu"Bkoku

vlrkr-

ojhy vk'k;klanHkkZr ;ksX; fo/kku fuoMk %

(A) (A) o (R) nksUgh ,desdka'kh vuq:i

ukghr

(B) (A) lR; vkgs i.k (R) vlR; vkgs

(C) (A) o (R) nksUgh lR; vkgsr

(D) (A) o (R) nksUgh vlR; vkgsr

45. iq<s O;oLFkkiu dk;k±ph ;knh fnyh vkgsr-

fnysY;k i;kZ;krwu R;kalkBh ;ksX; 'kh"kZd

fuoMk %

;knh %

fnXn'kZu] izHkkohr dj.ks] izsj.kk ns.ks] fuxjk.kh

dj.ks] ekxZn'kZu dj.ks] vkn'kZ nk[kfo.ks

i;kZ; %

(1) fu;kstu (2) fu; a=.k (3) u sr ` Ro

(4) vk;kstu (5) iz'kklu  (6) vkœrhca/k

(A) 6

(B) 2

(C) 3

(D) 5
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46. Match List I with List II and select

the correct answer from the codes

given below :

List I List II

(i) Presage (1) Concern

variables outcomes of

teaching

(ii) Context (2) Concern

variables characteristics

of environ-

ment

(iii) Process (3) Concern

variables characteristics

 of teachers

(iv) Product (4) Concern

variables actual

teaching

activity

Codes :

(i) (ii) (iii) (iv)

(A) (3) (1) (4) (2)

(B) (3) (4) (2) (1)

(C) (3) (2) (4) (1)

(D) (3) (1) (2) (4)

46. ;knh I o II tqˇowu [kkyh fnysY;k

ladsrkadkaewËku ;ksX; i;kZ; fuoMk %

;knh I ;knh II

(i) fizlst pys (1) v/;kiu fu"irh'kh

lacaf/kr vlrkr

(ii) vk'k; (2) okrkoj.kkP;k

(dkWUVsDLV) xq.k/kek±'kh lacaf/kr

pys vlrkr

(iii) izÿh;k (3) f'k{kdkaP;k

(izkslsl) xq.koSf'k"VÓka'kh

pys lacaf/kr vlrkr

(iv) ifj.kke (4) izR;{k v/;kiu

(izkWMDV) dk;kZ'kh lacaf/kr

pys vlrkr

ladsrkad %

(i) (ii) (iii) (iv)

(A) (3) (1) (4) (2)

(B) (3) (4) (2) (1)

(C) (3) (2) (4) (1)

(D) (3) (1) (2) (4)
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47. The evaluation of present operations

and projection of future planning

and budget development requires :

(A) Cost Analysis

(B) Situational Analysis

(C) Resource Planning

(D) Pilot Implementation

48. Excessive body fat is accociated with

decreased athletic performance in

activities which require the following

factors "

(1) Speed

(2) Balance

(3) Endurance

(4) Agility

The correct answer is :

(A) (1) and (2)

(B) (1) and (2) and (3)

(C) (1) and (3)

(D) (1), (2), (3) and (4)

47. fo|eku O;ogkjkaps ewY;ekiu Hkfo";krhy

fu;kstukp vankt o vankti=d fufeZrhlkBh

gk ?kVd vko';d vlrks %

(A) ewY; fo'ys"k.k (dkWLV vWukfyfll)

(B) ifjfLFkrhtU; fo'ys"k.k

(C) lk/kulaiŸkh fu;kstu

(D) ekxZn'khZ pkp.kh@iz;ksx vaeyctko.kh

48. 'kjhjkrhy cslqekj esnkP;k izek.kkpk] T;k

ÿhMkckchr iq<s fnysys ?kVd ykxrkr] v'kk

ckchae/khy dk;Zeku ?kV.;k'kh laca/k vkgs- gs

?kVd vksˇ[kk %

(1) osx

(2) lerksy

(3) nenkji.kk

(4) fn'kkfHkeq[krk

mfpr i;kZ; vkgs %

(A) (1) o (2)

(B) (1), (2) o (3)

(C) (1) o (3)

(D) (1), (2), (3) o (4)
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49. Match List I with List II and select

the correct answer from the codes

given below :

List I List II

(i) Inferential (1) used to

statistics describe data

(ii) Parametric (2) used when

statistics data is

normal

(iii) Descriptive (3) used when

statistics data is non-

normal

(iv) Non-para- (4) used to draw

metric conclusions

statistics

Codes :

(i) (ii) (iii) (iv)

(A) (4) (1) (2) (3)

(B) (4) (2) (1) (3)

(C) (4) (3) (1) (2)

(D) (4) (3) (2) (1)

49. ;knh I o II tq̌ owu ;ksX; i;kZ; [kkyh fnysY;k

ladsrkadkaewËku fuoMk %

;knh I ;knh II

(i) vuqekukRed (1) ekfgrhps o.kZu

lkaf[;dh dj.;klkBh okijyh

tkrs

(ii) iWjkesV™hd (2) tsOgk ekfgrh

(izkpyuh;) izlkekU; vlrs

lkaf[;dh rsOgk okijrkr

(iii) o.kZukRed (3) tsOgk ekfgrh

lkaf[;dh lkekU; ulrs rsOgk

okijrkr

(iv) ukWu&iWjkesV™hd (4) fu"d"kZ dk<.;klkBh

(vizkpyuh;) okijyh tkrs

lkaf[;dh

ladsrkad %

(i) (ii) (iii) (iv)

(A) (4) (1) (2) (3)

(B) (4) (2) (1) (3)

(C) (4) (3) (1) (2)

(D) (4) (3) (2) (1)
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50. Match List I with List II and select

the correct answer from the codes

given below :

List I List II

(i) Carbo- (1) Speed up

hydrates chemical

reactions

within cells

(ii) Vitamins (2) Supply

energy to

muscles

(iii) Minerals (3) Form  muscles,

bones, enzymes

(iv) Protein (4) Aids in growth

and mainte-

nance

Codes :

(i) (ii) (iii) (iv)

(A) (2) (1) (4) (3)

(B) (2) (1) (3) (4)

(C) (1) (2) (3) (4)

(D) (3) (1) (4) (2)

51. In an experimental study, the

research scholar has completed

control over :

(A) Dependent variables

(B) Intervening variables

(C) Control variables

(D) Independent variable

50. ;knh I o II tq̌ owu ;ksX; i;kZ; [kkyh fnysY;k

ladsrkadkae/kwu fuoMk %

;knh I ;knh II

(i) fi"Ve; (1) is'kharhy

inkFkZ jklk;fud

izÿh;k tyn

dj.ks

(ii) thoulRos (2) Luk;wauk mtkZ iqjfo.ks

(iii) {kkj@[kfuts (3) Luk;w] gkMs] forapd

?kMfo.ks

(iv) izfFkus (4) ok< o fu;a=.kkr

enr dj.ks

ladsrkad %

(i) (ii) (iii) (iv)

(A) (2) (1) (4) (3)

(B) (2) (1) (3) (4)

(C) (1) (2) (3) (4)

(D) (3) (1) (4) (2)

51. izk;ksfxd la'kks/kukr la'kks/kdkps ;k pykaoj

iw.kZ fu;a=.k vlrs %

(A) vk‹kz;h pys

(B) gLr{ksi pys

(C) fu;af=r pys

(D) Lok‹kz;h pys
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52. Match List I with List II and choose

the correct option from the codes

given below :

List I List II

(i) Multiple (1) Anaerobic

sprint capacity and

test peak

anaerobic

power

(ii) Multistage (2) Aerobic

shuttle capacity

test

(iii) Wingate (3) Fatigue

cycling index

test

(iv) 12 min (4) VO2 Max

run-walk

test

Codes :

(i) (ii) (iii) (iv)

(A) (3) (4) (2) (1)

(B) (3) (1) (2) (4)

(C) (3) (2) (4) (1)

(D) (3) (2) (1) (4)

52. ;knh I o II tq̌ owu ;ksX; i;kZ; [kkyh fnysY;k

ladsrkadkae/kwu fuoMk %

;knh I ;knh II

(i) eYVhiy (1) vusjksfcd {kerk

fLizaV VsLV o ihd vusjksfcd

ikWoj

(ii) eYVhLVst (2) ,jksfcd diWflVh

'kVy VsLV

(iii) fouxsV (3) QVhx baMsDl

lk;fdfyax

VsLV

(iv) 12 fe- juokWd (4) VO2 eWDl

VsLV

ladsrkad %

(i) (ii) (iii) (iv)

(A) (3) (4) (2) (1)

(B) (3) (1) (2) (4)

(C) (3) (2) (4) (1)

(D) (3) (2) (1) (4)
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53. Match List I with List II and select

the correct option from the codes

given below :

List I List II

(i) Instrumental (1) Help in

values development

of wholesome

personality

(ii) Economic (2) Useful in

values everyday

life

(iii) Humanistic (3) Directly

values linked with

physical

performance

(iv) Quality of (4) Carry expe-

life aspects rience

beyond awa-

reness and

commitment

Codes :

(i) (ii) (iii) (iv)

(A) (3) (1) (2) (4)

(B) (3) (2) (4) (1)

(C) (3) (1) (4) (2)

(D) (3) (2) (1) (4)

54. There are two basic purposes of

sports training. The first is to

improve performance capacity and

second is to improve performance

readiness. Performance readiness

involves :

(A) Fitness and conditioning

(B) Techniques and tactics

(C) Knowledge and understanding

(D) Body build and body type

53. ;knh I o II tq̌ owu ;ksX; i;kZ; [kkyh fnysY;k

ladsrkadkae/kwu fuoMk %

;knh I ;knh II

(i) fufeŸkHkwr (1) ijhiw.kZ O;fDreRo

ewY;s tM.k?kM.khr enr

(ii) foŸkh; (2) nSuafnu thoukr

ewY;s mi;ksxh

(iii) ekuorkoknh (3) izR;{k 'kkjhfjd

ewY;s dk;kZekuk'kh

 fuxMhr

(iv) thouxq.koŸkk (4) vuqHkokauk tk.kho

?kVd o lefiZrrsis{kk

vf/kd maph ns.ks

ladsrkad %

(i) (ii) (iii) (iv)

(A) (3) (1) (2) (4)

(B) (3) (2) (4) (1)

(C) (3) (1) (4) (2)

(D) (3) (2) (1) (4)

54. ÿhMk izf'k{k.kkph nk su eqyHk wr mÌh"Vs

vkgsr- ,d dk;Zeku {kerk lq/kkj.ks o nksu

dk;Zeku r;kjh lq/kkj.ks- R;kiSdh dk;Zeku r;kjh

Eg.kts %

(A) lqn`<rk o laLdj.k

(B) ra= o Mkoisp

(C) Kku o vkdyu

(D) 'kjhj cka/kk o 'kjhj izdkj
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55. To be successful in aerobic

endurance activities you need the

following :

(1) High VO2 max value

(2) High percentage of ST muscle

fibre

(3) Low lactate threshold

(4) Maximum effort

The correct answer is :

(A) (1) and (3)

(B) (1) and (4)

(C) (1) and (2)

(D) (2) and (3)

56. Compared to sedentary people, those

who engage in regular moderate

endurance exercise are likely to :

(i) Have high muscle mass

(ii) Be less anxious and depressed

(iii) Fall asleep move quickly and

sleep better

(iv) Have reduced risk of CVD

The correct answer is :

(A) (i), (ii) and (iii)

(B) (ii), (iii) and (iv)

(C) (i), (iii) and (iv)

(D) (i), (ii) and (iv)

55. ,sjk sfcd nenkji.kk dk;Zekukr ;'kLoh

gks.;klkBh gs vko';d vkgsr %

(1) mPp VO2 eWDl ewY;

(2) Lyks fV~op Luk;wrarawps eksBs izek.k

(3) fdeku yWDVsV Fkzs'kgksYM

(4) deky iz;Ru

mfpr i;kZ; vkgs %

(A) (1) o (3)

(B) (1) o (4)

(C) (1) o (2)

(D) (2) o (3)

56. cSBs dke dj.kkÚ;k O;DrhaP;k rqyusr fu;fer

e/;e rhozrsP;k ,sjksfcd O;k;ke dj.kkÚ;k

O;Drhauk gs Qk;ns feˇrhy %

(i) vf/kd Luk;w izek.k

(ii) fpark o uSjk'; deh izek.k

(iii) yodj o pkaxyh >ksi

(ii) ‚n; fodkj gks.;kpk /kksdk deh

mfpr i;kZ; vkgs %

(A) (i), (ii) o (iii)

(B) (ii), (iii) o (iv)

(C) (i), (iii) o (iv)

(D) (i), (ii) o (iv)
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57. Look at the following experimental

design equation and identify the

kind of design it truly represents :

R O1 X O2

R O1 O2

(A) Static group comparison

Design

(B) Pretest-post-test Randomized

Groups Design

(C) Repeated Measure Design

(D) Soloman Three Group Design

58. A company designs a new

instrument for the measurement of

body fat. The type of validity

applicable in this case would be :

(A) Criterion

(B) Predictive

(C) Concurrent

(D) Test-retest

57. iq<s fnysys lw= dks.kR;k izk;ksfxd vfHkdYi

n'kZfors] rs vkš [kk %

R O1 X O2

R O1 O2

(A) LVWfVd xzqi dEiWfj>u vfHkdYi

(B) i wo Z&mŸkjpkp.kh ;kn `PNhd xV

vfHkdYi

(C) fjihVsM estj vfHkdYi

(D) lksykseu Fkzh xzqi vfHkdYi

58. ,d daiuh 'kjhjkrhy pjchps ekiu dj.;klkBh

uohu lk/ku r;kj djrs- v'kk oš h ;k lkËkukph

oS/krk riklrkuk dks.kR;k izdkjph oS/krk ykxw

gksbZ« %

(A) fud"kkRed

(B) izkDdFku (vankt)

(C) ,dleok;PNsnh

(D) dlksVh&iwudZlksVh
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59. The primary muscle group that

should be strengthened for a

posterior cruciate ligament injury is :

(A) Hamstrings

(B) Quadriceps

(C) Adductors

(D) Abductors

60. Blood doping and erythropoetin can

enhance aerobic capacity and the

performance of aerobic sport. This

occurs through :

(1) An increase in oxygen carrying

capacity of blood

(2) Increased red blood cells

(3) Increase in total blood volume

(4) Increase in lipolysis

The correct answer is :

(A) (1), (2), (3) and (4)

(B) (1), (2) and (4) only

(C) (1) and (2) only

(D) (1), (2) and (3) only

59. iksLVhfjvj ÿqf'k,V fyxkesaV nq[kkirhuarj ;k

izeq[k Luk;wph rkdn fodflr dj.ks vko';d

vlrs %

(A) gWefLaV™Xl

(B) DokM™hlsIl

(C) vWMDVlZ

(D) vWcMDVlZ

60. CyM Mksfiax o ,jhFkzksiks,Vhueq̌ s ,sjksfcd {kerk

lq/kkjrkr- lq/kkj.kk ;k dkj.kkaeq š gksrkr %

(1) jDrkrhy izk.kok;w ogu {kerkae/;ss ok<

(2) yky jDr is'khae/ks ok<

(3) jDrkP;k ,dw.k izek.kkr ok<

(4) fyiksfyfll e/;s ok<

mfpr i;kZ; vkgs %

(A) (1), (2), (3) o (4)

(B) (1), (2) o (4)

(C) (1) o (2)

(D) (1), (2) o (3)
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61. Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : Physical Education

is a science.

Reasons (R) : Physical Education

draws principles from different allied

scientific fields.

In the context of the above two

statements, which one of the

following in correct :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) (A) is true, but (R) is false

(C) (A) is false but (R) is true

(D) Both (A) and (R) are false

62. Lack of vitamin K affects wound

healing because it :

(A) Decreases clotting ability

(B) Decreases chemical agents

(C) Decreases collagen

(D) Thins the blood

61. fnysY;k nksu okD;krhy ,d fo/kku (A)

vkgs o ,d dkj.k (R) vkgs %

fo/kku (A) % 'kkjhfjd f'k{k.k gs ,d

'kkL= vkgs

dkj.k (R) % fofo/k lacaf/kr 'kk[kkaP;k

enrhus 'kkjhfjd f'k{k.kkph rRos Bjrkr-

ojhy vk'k;klanHkkZr ;ksX; fo/kku fuoMk %

(A) (A) o (R) nksUgh lR; vkgs o

(R) gs  (A) ps ;ksX; Li"Vhdj.k

vkgs

(B) (A) lR; vkgs ijarw (R) vlR;

vkgs

(C) (A) vlR; vkgs ijarw (R) lR;

vkgs

(D) (A) o (R) nksUgh vlR; vkgs

62. t[ke Hk:u ;srkuk ^ds* thoulRokP;k

derjrseq š ifj.kke gksrks] dkj.k %

(A) xksB.;kph {kerk deh gks.ks

(B) jklk;fud inkFkZ deh gksrs

(C) dksyWtsu deh gks.ks

(D) jDr ikrˇ gks.ks

http://www.studentbounty.com/
http://studentbounty.com/


34

DEC-71313/III

63. When assessing an athlete’s pulse

in a medical emergency, the primary

site of palpation is the :

(A) Carotid artery

(B) Jugular vein

(C) Radial artery

(D) Brachial artery

64. There are different components of

training load. Among them ‘Density’

influences :

(A) Volume

(B) Intensity

(C) Frequency

(D) Duration

65. There are two groups of 20 students

each. Mean and S.D. of age of group

A is 16 yrs ± 2.5 yrs and Group B

is 18 yrs ± 5.3 yrs. These results

confirm :

(A) Group A is younger but Group

B is more homogenous than

Group A

(B) Group A is younger and is more

homogenous than Group B

(C) Group B is younger and more

homogenous than Group A

(D) Group B is younger but Group

A is more homogenous

63. rkRdkˇ oS|dh; rikl.kh djrkuk] ukMh

'kksËkukps izeq[k LFkku gs vkgs %

(A) dWjksfVM /ke.kh

(B) tqX;qyj f'kjk

(C) jsfMvy /ke.kh

(D) czsfdvy /ke.kh

64. izf'k{k.k Hkkjkaps fofo/k ?kVd vlrkr- R;koš h

?kurk ;koj ifj.kke djrs %

(A) izek.k

(B) rhozrk

(C) okjaokfjrk

(D) dkyko/kh

65. izR;sdh 20 fo|kF;k±ps nksu xV vkgsr- ^v*

xVkps e/;eku o izek.k fopyu 16 o"kZ

± 2-5 o"kZ gs vkgs o ^c* xVkps 18 o"kZ

± 5-3 o"kZ  brds vkgs- gs fudky dk; flº

djrkr \

(A) xV ^v* gk o;kus ygku vlwu xV ^c*

gk xV ^v* is{kk vf/kd ,dftulh

vkgs

(B) xV ^v* gk xV ^c* is{kk o;kus ygku

o ,dftulh vkgs

(C) xV ^c* gk o;kus ygku vlwu xV ^v*

is{kk vf/kd ,dftulh vkgs-

(D) xV ^c* gk o;kus ygku vkgs i.k xV

^v* gk vf/kd ,dftulh vkgs
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66. The two most effective sources of

research problems are :

(I) Comprehensive literature

search

(II) Colleagues and Senior

faculty

(III) Scientific interaction at

Seminars

(IV) Parental guidance

The correct answer is :

(A) (I) and (IV)

(B) (II) and (III)

(C) (I) and (III)

(D) (II) and (IV)

67. When educating a male athlete

regarding side effects of steroids,

include information about :

(A) Deepening of voice

(B) Osteoporosis and predisposition

to fractures

(C) Diabetes

(D) Increase in muscle bulk

66. la'kks/ku leL;kaps nksu lokZr izHkkoh lzksr gs

vkgsr %

(I) loZlekos'kd lkfgR;kpk vk<kok

(II) lgdkjh o ofj"B f'k{kd

(III)ppkZl=kae/;s 'kkL=ksDr ppkZ

(IV) ikydkaps ekxZn'kZu

mfpr i;kZ; vkgs %

(A) (I) o (IV)

(B) (II) o (III)

(C) (I) o (III)

(D) (II) o (IV)

67. iq#"k [kš kMwyk fLVjkWbZMP;k nq"ifj.kkekcÌy

f'kf{kr djrkuk ;k fo"k;h ekfgrh iqjokoh %

(A) vkokt ?kksxjk gks.ks

(B) vfLFkHk ax gk s.;kph 'kD;rk o

vkWLVhvksiksjksfll

(C) e/kqesg

(D) Luk;w izek.kkr ok<
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68. In continuous methods of training,

the load administration should be

continuous. Some examples of such

training methods are :

(I) Fartlek

(II) Cross-country

(III)Weight training

(IV) Extensive interval training

Point out the correct combination :

(A) (II), (III)

(B) (I), (II)

(C) (III), (IV)

(D) (II), (IV)

69. Match List I with List II and select

the correct option from the codes

given below :

List I List II

(i) Blood (1) Improving

doping energy

production

capacity

(ii) Phosphate (2) Aerobic

loading performance

(iii) Oxygen (3) Blood clotting

supplemen-

tation

(iv) Creatine (4) Increase

supple- anaerobic

mentation power

Codes :

(A) (3), (4), (2), (1)

(B) (3), (4), (1), (2)

(C) (4), (3), (2), (1)

(D) (3), (1), (4), (2)

68. izf'k{k.kkP;k dUVhU;qvl~ iºrhe/;s] lkrR;kus

Hkkj ns.ks vko';d vlrs- gÓk iºrhph dkgh

mnkgj.ks gh vkgsr %

(I) QkVZysd

(II) ÿkWl&dUV™h

(III) Hkkj izf'k{k.k

(IV)  ,DlVsUlhOg baVOgZy izf'k{k.k

;ksX; tq̌ .kh fuoMk %

(A) (II), (III)

(B) (I), (II)

(C) (III), (IV)

(D) (II), (IV)

69. ;knh I o II tq̌ owu ;ksX; i;kZ; [kkyh fnysY;k

ladsrkadkae/kwu fuoMk %

;knh I ;knh II

(i) CyM Mksfiax (1) mtkZ fufeZrh

{kerk

lq/kkj.ks

(ii) QkWLQsV yksfMax (2) ,Wjksfcd

dk;Zeku

(iii) vkWfDltu (3) jDr xksB.ks

lfIyesaVs'ku

(iv) fÿ,Vhu (4) ,usjksfcd ikoj

lfIyesaVs'ku ok<fo.ks

ladsrkad %

(A) (3), (4), (2), (1)

(B) (3), (4), (1), (2)

(C) (4), (3), (2), (1)

(D) (3), (1), (4), (2)
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70. A wrestler has received numerous

blows on her outer ears. If she

continues to avoid use of headgear,

she will suffer :

(A) Hearing loss

(B) Cauliflower ear

(C) Concussion

(D) Otitis media

71. Select the correct formula for

calculating correlation coefficient :

(A)
6

1
N

fx
i

Σ
− ×

(B)
6

1
fd

i
f

Σ
− ×

(C) 2

6
1

fd
i

f

Σ
− ×

(D)

26
1

fd
i

f

Σ
− ×

70. ,dk dqLrhiVwP;k dkukoj vusd vk?kkr >kys

vkgsr- ;kuarj frus tj MksD;kps laj{k.k lkËku

okij.;kps Vkˇys] rj fryk gs gksbZy %

(A) ,sdw deh ;s.ks

(B) dkWfy∂ykoj dku

(C) eqdk ekj

(D) vksVk;fVl fefMvk

71. lglaca/k lgxq.kd 'kks/k.;klkBh ;ksX; lw=

fuoMk %

(A)
6

1
N

fx
i

Σ
− ×

(B)
6

1
fd

i
f

Σ
− ×

(C) 2

6
1

fd
i

f

Σ
− ×

(D)

26
1

fd
i

f

Σ
− ×
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72. Match List I with List II and select

the correct option from the codes

given below :

List I   List II

(i) Body build (1) Body’s chemi-

cal composition

(ii) Body size (2) Height and

mass of the

body

(iii) Body composition (3) Form and

structure of the

body

(iv) Lean body mass (4) Fat free mass of

the body

Codes :

(i) (ii) (iii) (iv)

(A) (3) (2) (4) (1)

(B) (3) (2) (1) (4)

(C) (3) (4) (2) (1)

(D) (3) (4) (1) (2)

73. The stages of reaction to an

inquiry include :

(A) Shock, denial, anger,

depression and acceptance

(B) Denial, anger, bargaining and

adaptation

(C) Denial, anger, bargaining and

depression

(D) Crisis, shock, post-traumatic

stress and adaptation

72. ;knh I o ;knh II tq̌ owu ;ksX; i;kZ; [kkyh

fnysY;k ladsrkadkae/kwu fuoMk %

;knh I ;knh II

(i) 'kjhj ;"Vh (1) 'kjhjkph jklk;fud

?kVuk

(ii) 'kjhj vkdkj (2) 'kjhjkph maph o

otu

(iii) 'kjhj ?kVd (3) 'kjhjkph jpuk o

jpuk cka/kk

(iv) yhu ckWMh (4) 'kjhjkps pjch

ekl fojfgr otu

ladsrkad %

(i) (ii) (iii) (iv)

(A) (3) (2) (4) (1)

(B) (3) (2) (1) (4)

(C) (3) (4) (2) (1)

(D) (3) (4) (1) (2)

73. nq[kkiarhaP;k izfrfÿ;kaP;k voLFkkae/;s gÓkap

varHkkZo gksrks %

(A) vk?kkr] udkj] jkx] uSjk';] Lohdkj

(B) udkj] jkx] ?kklk?khl] vuqdwyu

(C) udkj] jkx] ?kklk?khl] uSjk';

(D) isp izlax] vk?kkr] mi?kkr i'pkr rk.k]

vuqdwyu
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74. Match the List I and List II and

select the correct option from the

codes given below :

List I List II

(i) Nominal data (1) One observation

is greater than

another

(ii) Ordinal data (2) One observation

is different from

another

(iii) Interval data (3) One observation

is many units

g r e a t e r t h a n

another

(iv) Ratio data (4) One observation

is many times

greater than

another

Codes :

(i) (ii) (iii) (iv)

(A) (1) (2) (3) (4)

(B) (2) (1) (3) (4)

(C) (2) (1) (4) (3)

(D) (2) (3) (4) (1)

75. Given below are citations of books

in a research thesis. Identify the

correct :

(A) Carr, G. Sport Mechanics for

Coaches (2nd ed.).

IL : Human Kinetics

(B) Carr, G. (2004). Sport

Mechanics for Coaches (2nd ed.)

Human Kinetics

(C) Carr, Gerry. (2004). Sport

Mechanics for Coaches (2nd ed.)

IL : Human Kinetics

(D) Carr, G. (2004). Sport

Mechanics for Coaches (2nd ed.)

IL : Human Kinetics

74. ;knh I o ;knh II ph rqyuk d:u ;ksX; i;kZ;
[kkyh fnysY;k ldsrkadkae/kwu fuoMk %

;knh I ;knh II

(i) ukeek= (1) ,d fujh{k.k nqlÚ;k
ekfgrh is{kk eksBs vlrs

(ii) ÿeokj (2) ,d fujh{k.k nqlÚ;k
ekfgrh is{kk osx š vlrs

(iii) e/;karj (3) ,d fujh{k.k nqlÚ;k
ekfgrh is{kk vf/kd

izek.kkus eksBs vlrs
(iv) xq.kksŸkj (4) ,d fujh{k.k nqlÚ;k

ekfgrh is{kk vusd iVhus
eksBs vlrs

ladsrkad %
(i) (ii) (iii) (iv)

(A) (1) (2) (3) (4)

(B) (2) (1) (3) (4)

(C) (2) (1) (4) (3)

(D) (2) (3) (4) (1)

75. la'kks/ku izca/kkrhy iqLrdkpk lanHkZ fnyk vkgs-
R;krhy fcupwd lanHkZ 'kks/kk %
(A) dkj] th- LiksVZl esdWfuDl QkWj dkspsl~

(2jh vk-)
vk;-,y- % ·qeu dk;usVhDl

(B) dkj] th- (2004)- LiksVZl~ esdWfuDl
QkWj dkspsl~ (2jh vk-)
·qeu dk;usVhDl~

(C) dkj] xsjh- (2004)- LiksVZl~ esdWfuDl
QkWj dkspsl~ (2jh vk-)
vk;- ,y- % ·qeu dk;usVhDl~

(D) dkj] th- (2004)- LiksVZl~ esdWfuDl
QkWj dkspsl~ (2jh vk-)
vk;- ,y- % ·qeu dk;usVhDl~
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